Vysledky:
1.

2.

M5858

CVICENI 4

Linearni rovnice n-tého fadu

Res nésledujici tlohy:

a) 2x+ (22 —6t)2’ =0,

Res nésledujici dlohy:

a) 2’"+2' —22=0, b)

¢) x@W —162 =0, d)
Res nésledujici tlohy:

a) o — 32"+ 20 =12 b)

¢) 2" —2a'+ 5z = 5e*sin(t), d)

e) 2"+a" =t —t+6e*, f)

g) 2"+ 22" + 2 =t +sin(t), h) 2"+
Res nésledujici tlohy:

a) x”—Qm’—i—x:e—t b) 2’44z = !

t’ sin(2t)’

a) t= %24—03:3,:1:(15) =0

a) x(t) = Cre’ + Cre™?! c) x

b) x(t) = Cre 2t + Cyte™%

a) x(t) = Cre? + Cel + % +3t+1

c) x(t) = Cie’ cos(2t) + Cae’ sin(2t) + * (sin(t) — § cos(t))
e) z(t) = Cp + Cre™t + % — 342 4+ 3t + e

g) x(t) = Oy + Cae™t + Cste™! + % — 212 + 6t — 1 sin(t)

a) x(t) = Cret + Cote! + b) 2(t) = Crcos(2t) + Co
te(In ft| — 1) Lcos(2t) + %ln |sin(2¢)]

xdt — (t + 22 sin(x))dz

b) t = —zcos(x) + Czx,z(t) =0

0,

c)

2 + 47 + 42 =0,
e® 21" + = 0.

2" + 32" + 22 = (20t + 29)e3t,

) — 32®) 4 220) = 8t — 12,

2 + 22" + 2z = 3e ! cos(t),

2" 4+ 92" + 9z = e! + 10 cos(3t).

c) t=(C+ux)e”

(t) = C1e*" + Cre™? 4 C3 cos(2t) + Cysin(2t)
d) z(t) = Cy cos(t)+Cq sin(t) + Cst cos(t) + Cyt sin(t)

b) z(t) = Cre 2! + Coe™ ! + (t + 1)e3!
) x(t) = Cy + Cot + Cst2 + Cye® + Csel + &
f) x(t) e (Crcos(t) + Cysin(t)) +
3te~sin(t)
h) z(t) = Cre™t + Cqcos(3t) + Cssin(3t) +
g—; — £ cos(3t) + £ sin(3t)
c) z(t) Cret + Catet —
%ln(tQ—&—l)—l—tet arctan(t)

sin(2t) — =



